Jaypro

"When The Game Is On The Line"

SBPE-77 & PSTS-77

7’ x 7’ Protector Screen

www:Jaypro.com

Page 0 of 4



INTRODUCTION

These instructions outline the assembly and use of the Softball Protector Screen (SBPE-77) / Portable
Soft Toss Screen (PSTS-77). If you need additional information or support in the assembly and use of
the Collegiate Screen you can reach the Jaypro Sports customer support team, Monday through Friday,
8:00 AM to 5:00 PM Eastern time at 800-243-0533.

Replacement nets are available through your dealer or by calling Jaypro Sports.

SAFETY

All netting deteriorates through use and exposure to the elements. For safe operation and continued
high performance from this equipment, inspection and maintenance must be performed before each
use. Inspect the net for broken mesh, tears, or other signs of weakness. Questionable nets should be
immediately removed from service and replaced.

Use of this equipment other than intended, may be hazardous. Alteration or modification of equipment
may be hazardous. For repair or replacement, please call your dealer or Jaypro Sports.

EQUIPMENT AND MATERIALS

You will need the following tools to put the Collegiate Screen together.

Allen Wrenches

Wrench Set

Rubber Mallet

Optional -Loctite Thread Lock

BEFORE YOU START

Check to confirm that you’re Collegiate Fielder’s Screen has shipped with all hardware. If any hardware

or components are missing, contact the Jaypro Customer Support Team. * Optional Parts Sold Separately

ITEM QTyY DESCRIPTION ITEM QTy DESCRIPTION
1 1 Leg Base 9 2 Tube Cap
2 1 Wheel Base 10 6 M8 Screw
3 1 Base Pipe 11 6 M8 Nut
4 2 Upright 12 2 M12 Nut
5 1 Top Crossbar 13 2 M12 Washer
6 2 Wheel Bracket 14 2 M12 X 65mm SCREW
7 2 Wheel 15 2 Self-Tapping Screw
8 1 Net *16 N/A Ground Anchor SR1727

Page 10of4



ASSEMBLY

1. Layout frame pipes as shown in Figure 1 and assemble together by using fasteners shown in
Figure 3 Loctite may be used on these screws to ensure assembly.

Once the frame is completely assembled, fully tighten all fasteners.

Slip net onto frame.

Push end plugs Item 9 into leg base see Figure 1

e wN

Put wheels onto wheel bracket. Do not over tighten, wheels should turn freely. See Figure 4.
Wheel bracket fits into wheel base as shown in Figure 2 and is secured with one self tapping
screw shown in Figure 4.

Figure 1 Model PSTS-77 / SBPE-77 Included Components and Hardware

NOTE THE ORIENTATION OF THE TWO WHEEL
MOUNTING HOLES IN THE WHEEL BASE

Page 2 of 4



INSTALL NET
1. Install the bottom portion of the net on the frames by sliding the open end of the net
over the top of the frame. Tie closed the bottom opened end of the net using the cord
provided.

TIE OFF ONE CORNER OF
THE NET WITH LACING CORD.

PLEASE NOTE:
-THE TYPE OF MATERIAL AND SIZE OF THE MESH WILL DETERMINE THE
APPROPRIATE LACING DIMENSION.

- ALWAYS LACE CLOSE ENOUGH TO PREVENT THE PLAYING BALL FROM
PASSING THROUGH ANY GAPS.

- USE HALF HITCH TYPE KNOTS ALONG THE LENGTH OF YOUR FRAME.

- DRAW EACH KNOT TIGHT BEFORE CONTINUING.

2. For softball protector screen (SBPE-77) strap close all the velcro straps around the
cutout of the screen netting.

3. For portable soft toss screen (PSTS-77) lace the two sides of the circle together with the
cord that is provided on one of the circle side. When using the portable soft toss screen
(PSTS-77) tie the tail cord end of the net tunnel to the ground with a ground stake
(SR1727) sold separately, can help improve balls to stay in the net.

Page 3 of 4



Figure 2 Wheel Orientation  Figure 3 Tube Assembly

®)
(10) ,/\

| ® DETAIL A
(TYPICAL HARDWARE CONNECTION)

Figure 4 Wheel Assembly

DETAIL B

Page 4 of 4




